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Unit 13 Review: Acids & Bases (CP1)

Answer the following questions. If you are missing any notes, they are posted on the website
www.msrobbinspnhs.weebly.com

Are the following properties characteristics of acids, bases, or both?

EOT H 1. Can turn litmus paper a different color.

AciD
. Contain more hydrogen ions than hydroxide ions.

2
3
I Eﬁx 4. Feel slippery.
5
6
7

. React with metals to produce H; gas.

. Hydrogen ion acceptors.
. Taste bitter.

. Conduct electricity.

ACID 8. Taste sour.
BOSE o pH ranges from 7 to 14.

Ac\p 10. Hydrogen ion donors.

11. a) Complete the reaction:
Acid + Base > _SALT  +  WAEL
b) What is this type of reaction called? Neus AL ZaTION

12. Predict the products for the following acid-base reactions.
a) HNO; + LioH > __ H30 + __LiNO,
b) HCI + NaOH > K0 + _ Nell
¢) KOH + HBr > lﬂ\Lb + __ K&

13. Identify as an acid, base or salt.
a) H2SO,
b) NHs;
c) NaCl
d) HF
e) (NH4)2CO0s
f) Ba(OH)2
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14. a) Acids have pH values that range from O to 1
a) Bases have pH values that range from __ 1 to L)

b) Pure water has a pH of exactly 1

15. Each step along the pH scale changes the hydrogen ion concentration by what factor? I Q

16. Solutions that are acidic have higher H* concentrations than ﬁﬁ‘ concentrations.

17. Find the pH of the solution and whether it is acidic, basic, or neutral.

pH Acidic/Basic/Neutral

a) [H]=1x10°M o A

b) [H']=1x10"2M 12 ?

) [OH]=1x10°M b A Cu¥l= IxiD°%

d) [OH]=1x10*M A0 B Y] = (=107 1°
18. a) In a neutral solution, the [H*] and [OH] are equal to | X1 0'1

b) In a basic solution, the [H*] is between [xiD™ and ™

¢) In an acidic solution, the [H*] is between | ¥ \D“‘ and 1 x10°T

19. Water undergoes self-ionization according to the reaction below.

H.0 + H.0 > Bas)* + DHW™ (o( ﬂ#’ &0“‘)

20. Which of these solutions is the most basic?
A [H1=1x102M pHz 2
B. [H]=1x10*M oH= Y
> [H]=1x10"M gtz W
Q, H]=1x10"M pH=|3

21. What is the H* concentration for the following solutions?
a) pH=110 _LAID™
b) pH=5.0 | x!Q‘5
) poH=80 _Ixlble
d) poH=130 _ XDt

22. The hydronium ion concentration of a solution is 3.15 x 10 M.
a) WhatisthepH? = H.D

b) What is the pOH? = q|5




23. The hydrogen ion concentration of a solution is 0.0090 M.

a) WhatisthepH? = — o g (0.00a0A) = 2,05
b) Whatis the poH? = [{ - 2,05 = (|95,

24. What is the [OH] of a solution with a [Hs0*] of 3.5 x 10" M?

- o™ -
[0 = e = 2ax1074M

25. What is the [H*] of a solution with a [OH] of 3.2 x 10 M?

A - Ixio™! i
(] = 0 = 3, (07

Wm M JMCM Nt

27. The pomt in a titration when the indicator pernﬁently changes color is called the _C..D.CL_

28. In a titration, when the moles of H* are equal to the moles of OH-, the @Q‘ §M. m!gmez
13hoinj:: has been reached.

For questions 29 and 30, use the formula: MaVa = MgVs

rE chOD . ~
29. If 30.0 mL of KOH solution is titrated by 26.8 mL of 0.120 M HCIOs, what is the molarity of the KOH
solution?

MA: 0.\?.0” MG - 2 Mﬁ "AA\IA (OJ?.OM)(R(,. SML)
VA= 26.EmL \155 300 06 (30,0«\\,} =0. ‘I:Z){-IA
ACID BrseE
30. How many milliliters of 0.545 M HCI will neutralize 43.6 mL of a 0.250 M NaOH?
My =0, 645)4 Mg =6.2500
Va = VvV o = U3.6 wmbl VA "M(s\/& (O l%M)(Lﬁ (aML>
Pa Gosasy = Homb

HCl



